ZUYKEVTPWTIKOG Ttivakag — [Tapaywyol facikwv cuVapPTOEWY

Juvaptnon f

Mapdywyocg f’

fx) =cxe€R,ceR

f'x)=(c)) =0,xeR

fx) =x,x€R

f'x)=x®'=1,x€eR

f(x) =x¥,xkeZ—-{0,1}
XxER,avk € N —{0,1} ko
X € R*, av K apvnTIKOG AKEPULOG

f'(x) = x)' =xx*LkeZ-{0,1}
Xx€ER,avk € N —{0,1} kot
X € R*, av K apvnTIKOG AKEPLOG

1

f(x) = VX x € [0, +) ') = (V) = S7XE (0, +)
f(x)=%,x€]R§* f’(x)z(é)lz—xlz,xeR*

f(x) =nux,x €R

f'(x) = (Mux)" = ovvx,x € R

f(x) = ouvvx,x € R

f'(x) = (ovvx)' = —nMux,x ER

f(x) = epx,x € R — {x/ovvx = 0}

1
f'(x) = (eex) = e € R — {x/ovvx = 0}

f(x) = opx,x € R — {x/nux = 0}

! [ 1 —
F60 = (090)' =~ x € R~ {x/nux = 0)

f(x) =e¥,x€R

f'(x) = (e¥) = e, x € R

f(x) =Inx,x € (0, +)

f'(x) = (Inx)' = %,X € (0, +x)

Kavdveg mapaywyiong

(fx) +g®) = ') + g'(x)

(Fx)g(x) = f'®)gX) + f(x)g'(x)

(fFGIg(h() = f'(x)gEh(x) + f(x)g' (h(x) + f(x)g()h’ (x)

(cf(x))’ =cf'(x),ceR

_ gk - fx)g'x)

(i)
g(x)

g2 (x)




